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R Rosie has 240 cakes to sell She could use 10, ggg (
She puts the same number of cakes in 20, 30, 40, 60, 80
each box and has no cakes left over. because 240 is a Children r
Which of these boxes could she use? multiple of all of explore th
these numbers. problem it
10 X 24 = 240 context.
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Notes and Guidance

Children use known multiplication facts to solve other

multiplication problems. 0000 0000
They understand that because one of the numbers in the 0000 0000
calculation is ten times bigger, then the answer will also be ten 0000 0000
times bigger. 0000 0000
It is important that children develop their conceptual x_=__0000 __x__=-_ Q000

understanding through the use of concrete manipulatives
I The number pieces represent 5 x ___ =

FELOI

If each hole is worth ten, what do the pieces represent?

Mathematical Talk

What is the same and what is different about the place value

counters? A 1f we know 2 x 6 = 12, we also know 2 X 60 =120
Use this to complete the fact family.

How does this fact help us solve this problem? Complete the fact families

2x60=120 |[(Jx(J=(_J| for the calculations

3x30=)
O-0-0|0-00

If we know these facts, what other facts do we know?

[(J=4x80
B0+2=)

Can you prove your answer using manipulatives?
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